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b. ©1036.7 mi

c. ~413.6 mi
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c. All five triangles are congruent by SSS. All have a
hypotenuse of 1 unit, a long leg of about 0.81 unit, and a
short leg of 0.59 unit.

Cos £ =0.81, sin ’g’mO 59;
sin '{g ~0.81, cos 3% = 0.59;
cos ¥Z =.0.81, S|n—r=== 0.59;
cos % =.0.81, sin & ~--0.59;
cos °F = 0.81, sin ¥ = -0.59
44. Check students’ work.
45. =11 radians

46. The student forgot to include parentheses around 2*7,

A7. =798 ft: 55° -665° 48. ~23.6 in.; Sample: - 2% 11z
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49. If two angles measured in radians are coterminal, the
difference of their measures will be evenly divisible by 27,

50. ==6.3 cm 51. =4008.7 mi
52. —--37” radians 53. —-”T” radians
54. 47” radians 55. 357” radians
56.
f _ 3
27 nr
2N = 527
br = 5
5§ =rfl

57. a. 0.5017962; 0.4999646: the first four terms
2 4 6 3
b. 157 +% & +&—- ...

c. ==0.951; 18°
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